D1vISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH A REMAINDER Name:
Time: Score: y—
631) —12231 + 3 = 616) —1455 +4 =
62 26749 + 4 = w1 12187 + (—=7) =

633) 17624 = 2 =

634) 36792 + (—4) =
635 16119 + (=2) =
636) —7545 + 5 =

637) 14656 =+ 2 =

635 61683 + (—8) =
639) 85236 + (—9) =
610) —33582 +4 =

61)  —35032 + (—8) =
612 —68853 + (—7) =
643 —42094 =6 =

61)  —H2261 + (=7) =

645 26821 + (—4) =

Mathematics: Division - Level 8 - Horizontal - Set 5
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—41300 = (—7) =
8961 +~ 1 =
—88869 = 10 =
19900 = (—10) =
14068 = (—6) =
8607 + 3 =

4994 = (=3) =
12572 = (—2) =
—2528 =1 =
—13949 = 4 =
11042 + 3 =
8220 + (—3) =

—42354 + 5 =
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